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In the following exercises, work through the four strategies for designing solutions to problems that I have explained in chapter 12 of Smart Thinking. In chapter 9 you generated your ideas on these problems, structuring them in pattern notes, which you can now use for this exercise to adapt and find solutions. In the first exercise I have gone into some detail explaining what you need to do, but this is merely a short summary of the explanation in chapter 12, so if you are unsure, read that chapter again.

As you use each of these strategies have the courage to play devil’s advocate and think naïvely; to float ideas that appear to be contrary to all your normal thinking. The more you can do this, the easier you will find it. Remind yourself of the point I emphasise in Smart Thinking that all forms of creativity arise from developing asymmetries between the structures we use to understand the world. So keep an open mind and try to resist letting your critical self in too soon. If you are too critical too soon you may crush a promising idea before it has had a chance to develop. 

Finally, after you have worked on a problem, spend some time on metacognition: share with others what you have found difficult about this exercise. This is important, not just because it helps us develop the habit of self-reflection, but because it is as important to understand the process of thinking as it is to arrive at a product that works. 

Exercise 1: Bribery – The Bernard Fleming Case

In chapter 3 we examined the sort of questions this problem raises: is it a question of fact, value or concept, or, more likely, a mixture of them all? In chapter 5 we analysed the concept of bribery to give our ideas a clear, manageable structure that we can use to design a solution. Then in chapter 9 we generated ideas using trigger questions from different perspectives and levels. And in the last chapter we designed solutions using analogies. Now we need to design solutions using the four strategies we discussed in chapter 12 of Smart Thinking. 

Strategy 1: Change the structure

In the first strategy you are shown how to change the structure in three ways: split it up, rearrange it or reinterpret it. Work through each of these, thinking carefully about what you can do. Ideas will often come to you immediately, but if they don’t, give it time. Remember, you are working against habits of thought and routine patterns of thinking that are resistant to change. It often happens that you see a way of splitting the problem up into two or more smaller problems, each of which can be solved easily. 

Once you have given this enough time, move on to see if you can rearrange the structure. You can often see ways of connecting ideas or moving them around that wasn’t obvious when you first structured them. Once you have exhausted that, move on to see if you can reinterpret the structure by changing its meaning or the meaning of the concepts used. As you have read in Smart Thinking, often this is a matter of thinking naïvely about the ideas, how they are described and how they are linked to other ideas. Try to look at the structure as someone who has never seen it before. Strip yourself of all preconceptions that might be restricting your thinking and think about the problem naïvely. 

Strategy 2: Approach it from a different direction

The second strategy involves approaching the structure from a different direction, from a different point of view. As I have said in chapter 12, the easiest way of doing this is to reverse the order of things: to turn it upside down, inside out or back to front. Often it’s not easy to see how to do this, so just look for ways of reversing the order of things in whatever way you can. 

You are bound to find this difficult, because your thinking has been so shaped that it resists it. At this point you begin to learn what it is to be a smart thinker by detaching yourself from your routine patterns of thought and forgetting about yourself and what your thinking is telling you must be the case. Reverse the order of things, turn them inside out to see what you find when you reverse your normal assumptions and turn the problem back to front: instead of assuming one thing, assume its opposite in the same way that Samenow does in the book.

Strategy 3: Start from a different point

The third strategy is to start from a different point in contrast to the second strategy where we approach the structure of ideas from a different direction. As I have explained in chapter 12, the most obvious way of doing this is to focus on the key concepts. All concepts are made up of one or more organising principles that establish the relationship between the component ideas within the concept. One of these is likely to dictate the way we generally use the concept, so if, instead, we look at the problem from the perspective of the other ideas, it is likely to throw a different light on the problem and a different point from which to start our search for a solution. So take your analysis of the concept of bribery and ask yourself whether the different component ideas can offer us a different way of solving the problem.

Strategy 4: Create a new structure

Once you have tackled this strategy move on to the fourth, that of creating a new structure either by combining structures or changing the basic concepts. As you can see, one way of combining structures is to import a theory or a way of interpreting things from elsewhere. For example, in our professional lives there is always a tendency to trap ourselves within the conventional frames of reference within our profession, when in fact the solution to many problems may lie in going outside of our profession and importing different ideas and ways of working.

Alternatively, we can change the basic concepts in which the problem is described. Each concept dictates the way we approach a problem, so if we can change these concepts, we are likely to find different ways of solving the problem. So ask yourself whether there is a way of changing the concepts that we have used to describe the problem and whether this is likely to open up an alternative way of solving the problem. 

Exercise 2:

Assistant manager of a chain store

I was working for a discount chain store that was expanding very rapidly. I was the assistant manager for a new store that was opening in the suburbs of Richmond, Virginia. There is an awful lot of work to be done in opening a new store; you have to order the merchandise, and when it comes in you have to check it off against the right orders, put it in the right racks and on the right shelves, add the right price tags, and generally keep things organised despite the chaos of last-minute construction and cleaning. I was helped by five really good people, who had been convinced to move from other stores in the chain because this was billed as a ‘training program’ for management. We worked long hours. We got the job done. One week after the store opened, I was told to find a reason to fire three of them because ‘we only have room for two trainees’. When I objected I was told, ‘Hey, there’s no problem. They can go back to the jobs they came from.’[endnoteRef:1]1  [1: 1 Hosmer, L.T. The Ethics of Management, Third Edition (Chicago: Irwin, 1996), p. 26.] 


What should the assistant manager do?

Exercise 3:

Shoplifting costs businesses a great deal and probably results in rises in prices to cover the increased security and insurance. So, businesses and consumers suffer. What are the possible solutions?

Exercise 4:

As people live longer many western societies are facing a crisis of loneliness among the elderly. A much higher proportion of homes are now occupied by single, elderly people. Now that they no longer work, they have little contact with former workmates, and family and friends are only able to visit infrequently. Many elderly people also have mobility problems with only a very small proportion still owning and driving their own cars. This means that they cannot easily access community facilities where these are available. What is the solution?

Exercise 5:

Over recent years many countries have seen an alarming rise in the consumption of alcohol among the young. This has been associated with violent, anti-social behaviour in city centres. One reason for this appears to be the cheap alcohol sold in many supermarkets as an inducement to attract more customers. In some supermarkets lager is cheaper than water. What solutions are there?

Exercise 6:

Traditional toy makers across the world are complaining that their businesses are declining, because traditional toys and games just don’t seem to be as attractive to the consumer as they used to be. What is the answer?

Exercise 7:

In those countries that have chosen to tackle the problem of low growth through a policy of quantitative easing – a process by which the central bank stimulates economic growth by increasing the money supply – there have been ‘asset bubbles’: the price of assets, like houses, has risen as the increased money supply goes to inflate prices, rather than generate new economic activity. This has been made worse by the number of second homes now owned and by those who are investing in property to rent it out. Both of these things have increased the demand and, therefore, the price of houses. 

This has practically destroyed the hopes of young people who want to buy their own homes. Increasing numbers are forced to live at home with their parents, often well into their 30s. What’s more, as house prices rise so do rents to cover the larger mortgages needed. This has meant that even those who have well-paid jobs do not earn enough to cover their costs and employers struggle to find the employees they need. 

What is the solution?
